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Solutions to Additional Problems, Section 2.2
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Compute these limits.

10.

11.

12.

13.

14.

15.

16.

lim —3z*+ 723+ 6 = -0

T—r00

lim —3z*+7234+6=—-00

T—r—00

lim —62? — 725 +2 = -

T—00

lim —62? — 725+ 2 =0

T——00

xh_{glo 73302?5 ers = —o0

Jim | =R — oo
lim —327—4x347 _ - —00

T—>—00 z3+10
lim 4« (.75)% =
T—r00

lim 4 (.75)" =

T—r—00

lim 5e%* = 0o
Tr—00

lim 5e2* =0

Tr—r—00
233, /(@) 0,
{ 3z ;25f7+4 ifx <1
ifx>1
3
xgmoo f(x 4
{ 3m4;55f7+4 ifz <1
ifx>1
Al 0
(1.05)* ifz <0
65‘35 2‘:128 ifz>0

4% (1.05)" ifz <0

4
6z>+18 ifz>0

5242

where

where

where

where



